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Learning Goals
A4

Learning Goal Homework Problems
5.5.1 Compute indefinite integrals using substitution. 1-44, 49 -72.

5.5.2 Solve initial value problems. 73-80.

5.5.3 Solve applications involving indefinite integrals and the 79, 80.

substitution method.

5.5.4 Answer conceptual questions involving the substitution method. | 67-72.

Learning Goal Homework Problems

5.6.1 Compute definite integrals using substitution.

1-54, 72, 81, 87, 89,
90, 93, 100-104,
113, 114, 117-120.
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Subshtuhon Method Lor Antidecivatives :
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Sometimes |, ofter SubsHthS gx) = w andt  g'(x)dx= du,
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Subshtution Mefhod for Definite Tatregrals -

b g(e)
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